Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER-C to D Bridge Course EXAMINATION —

Winter- 2019
Subject Code: C300004

Date: 03-01-2020

Subject Name: ENGINEERING PHYSICS ( GROUP-1)

Time: 10:30 AM TO 12:00 PM

Instructions:
1. Attempt all questions.

OV b WN

. English version is authentic.

No.  Question Text and Option. U< i [Ascul.,
Pitch of a micrometer screw gauge is 1 mm. There are 100 divisions on its circular

scale. Calculate its least count.

Total Marks: 70

. Make Suitable assumptions wherever necessary.

. Figures to the right indicate full marks.

. Use of programmable & Communication aids are strictly prohibited.
. Use of only simple calculator is permitted in Mathematics.

L A:  0.01lmm B. 0.1mm
C. 0.05mm D. 0.001mm
WD5Hl22 25 o<l il 1 mm &9, A<l 44z 25@ Hi 100 [Aeiol 9, HisiHl22 24 Olsyl
o G HM Al L
A 0.01mm B. 0.1mm
C. 0.05mm D. 0.001mm
Main scale of a vernier calliper is calibrated in mm. 19 divisions on its main scale are
2 equal to 20 divisions of its vernier scale. Calculate its least count.
A 0.1lmm B. 0.05mm
C. 0.01lmm D. 0.02mm
2 Aefl12 sefluzedl Hot 256 mmui 2if5d 9. ddl oA 25a1 19 (Ao Wi a2 254l
. 20 [AcuoLAL HIW AAAR €9 Al dell @gdH 1w wlsd 2l
A 0.Imm B. 0.05mm
C. 0.01lmm D. 0.02mm
Sl unit of luminous intensity is .
3. A metre B. mole
C. newton D: candela
orll[d dladldl S visH, £,
3. A Al B. g
C. 2 Dl s
Which of the following is a fundamental physical quantity?
4. (AL Temperature B.  Velocity
C. Volume D. Force
AlAamizl 59 Haoid olilds el €97
¥, A AHi- B. aa
C. s D. o0
0.003100 has significant figures.
5 A 6 B. 7
C. 4 D. 2
0.0031004i SIDERAIEXIRY
u. A 6 B. 7
C. 4 D. 2
5 1kJ = erg.
A 100 B: 10%
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10.

0.

11.

9.

12.

2.

13.

13.

C. 107 D. 10’

1kJ= 243,

A 1010 B: 10%
C. 107 D. 10’
Which of the following is a vector quantity?

A. Temperature B. Time
C. Mass D: Force

AlAAmigl 59 1l 219l 92

A dluHIA B.  wwy
C. DI o0
Which of the following is a derived physical quantity?

A.  Pressure B.  Electric current

C. Temperature D. Length

<AlAAmidl 59 A1MAq elfAs 212l €92

Al count B.  [agd uaus

C.  dlumid D. doud

A person travels 4m to the west and then 3m to the north. Find displacement.
A.  7m B: 5m

C. 1Im D. 35m

25 A5 U[S2HUL 4 m UUA 530 GriTHE 3 M UALRASR &9 dl def 22lidRE AL
A.  7m B: 5m

C. 1Im D. 35m

1/273.16 fraction of thermodynamic temperature of the triple point of water is called
A. candela B: kelvin

C. newton D. ampere

YLEELAL [Zud Uishezdl dluHidel 1/273.164H1 M1l 2HIAAMS HIUsH U2 5EAIML
w19 9.

A saql B: slcaq

C. 24 D.  swilaz

External force acting on a body is zero, then its acceleration

A. increases B.  decreases

C. isequal to zero D. remains constant

25 d2d, U QAL A& 610 Yt 69, dl d<il L :

A 98y B. w2g

C. gaains Dl wyn s e

Newton’s first law of motion gives the definition of

A. mass B. velocity

C. force D. time

A2l UUH [l (43, <fl vl 2414 &9,

A B. 4y

C o D. 2wy

Which physical quantity is equivalent to rate of change in momentum of an object?
A.  Acceleration B. Impulse

C. Force D. Velocity

25 Al AOUHLAUL Al 525124 £2 56 @llas ALl AH4E 897

A, uqa B. 49

C. oo D. 4o
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14.

17.

15.

u.

16.

1e.

17.

9.

18.

<.

19.

20.

O,

21.

9.

22.

Velocity of an object changes from 10 m/s to 50 m/s in 2s. Find its acceleration.

A) 20 m/s? B. 20m/s
C. 30m/s? D. 30m/s
D5 ULIAL 901 2 As<3HL 10m/s &l 50m/s Al 9. Al U2 AL
A) 20 m/s? B. 20m/s
C. 30m/s? D. 30m/s

0.2 m/s? acceleration is produced when a force is applied on an object of mass 2 kg.
How much is the force acting on the object?

A. 04 B. 0.1]

C. O0.IN D: 04N

2 kg £01 HR1AAL UELEL UR 6101 AOUSAL dHE 0.2 M/S? UL Gelee 21X 69, Al UELE UR Aldld, 6Ll
5241 £9?

A. 04] B. 0.1]

C. O0.IN D: 04N

The inertia of a body depends on of body.

A. length B. time

C. mass D. temperature

Il 643cd UELdAL YR BRIV 69,

A doyd B.  uwa

Cl D.  dlusid

Direction of frictional force is in the direction of motion of body.
A. same B.  opposite

C. perpendicular D. none

iRl o0, o1 ueldl oufal

A [RauHi o gt Bl [Axgd [Baumi oy ¢ln

C.  dotlcaumior gin D.  aisuya-lg

How much is the required force to accelerate a body of 10 kg by 2m/s??
A. 8N B. 5N

C. 12N D 20N

10 kg <l dzd< 2m/s? <L w12l ualid s2a1 Hi2 529 ol ox3(A1d €92

A. 8N B. O5N

C. 12N D 20N

Gravitational force is due to

A. electric charge B. temperature

C. mass D. velocity

YedlsUBL 610 AL 510 1AL 9,

A [AgdeR B.  dlumld

C w0 D. 4o

Which law does give magnitude of force between two static electric charges?
A. Coulomb’s law B. Ohm’slaw

C. Faraday’s law D. Newton’s law

AL (4, 6 [AgaeiR a2 ot 4et 21U 9?

A sdotdl [Aam B. 2l [aw

C. il [aam D. egzddi [am

Force of attraction between molecules of different material is known as
A, cohesive force B.  adhesive force

C. electromagnetic force D. nuclear force

6YEl-6YEL UEIAAl UUDLL 422 AL, ISUEL 610 EREICRZY

A Halsd o B.  suafsd o

C.  [Agdarafsy o D.  «fsquz o

Sl unit of surface tension is :

A) N/m B. N/m?

C. Nm D. Nm?
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L.

23.

3.

24.

Y.

25.

Y.

26.

L.

27.

9.

28.

L.

29.

.

30.

30.

YBdle-l S| 2154, 2

Al N/m B. N/m?

C. Nm D. Nm?

Velocity of liquid at which streamline flow converts into turbulent flow is called .
A. terminal velocity B. linear velocity

C. critical velocity D. relative velocity
6% A2, 49 UR 2Ll Ao 3UIdR UEOH ASAHT AA A 56 69,
A z[qgq0 B. 3y 3ol

C:  silasaa D.  aaqa

Sl unit of Young’s modulus is .

A.  N/m B) N/m?

C. Nm D. Nm?

4oL HILLAAAL S 2isH, 2

A.  N/m B) N/m?

C. Nm D. Nm?

A stress of 108 N/m? is present in a wire of cross-sectional area 10° m2. Find tension in
the wire.

A. 10*N B. 108N

C. 10°N D: 100N

1076 m? UgE9el HASNALNL 245 AR 108 N/M? <l WAGLOL €9 Al dIZHE ABLAoLOL AL 53,
A. 10*N B. 108N

C. 10°N D: 100N

Surface tension tries to area of free surface of a liquid.
A. decrease B. increase

C. both D. none

YBALRL UALSL AL H5d AUZ]AL A0l 5201 WAeel 53 99,

Al g2l B. aqal

C. oiq D.  aisua-lg

Length of a wire is 5 m. When a force is applied, its length changes by 0.2m. Calculate
strain in wire.

A. 025 B. 52

c. 0.04 D. 10

25 A<l Gotls) 5m 9. dell U K401 QAL AoUSHL 0.2m <Al 52512 214 89, AlRMI Geleel
[Asla-l oumazl s2i.

A. 025 B. 52

c. 0.04 D. 10

As temperature increases, coefficient of viscosity of liquid

A. decreases B. increases

C. remains constant D. none

OFAUL ALUHLAHL AHIRL 214 89 AR UALSLAL 2ALALdL oS 9.
Al b2l A e B.  qmiziame

C. 2wunzwe D. sy qlg
Tendency of an object to resist deformation in its shape is known as
A. inertia B.  surface tension

C. viscosity D. elasticity

Y2l Uldledl 21512 4caaldl (4214 52 Al gl dzls BloAIA €9,
A oy B.  uyzdw

C.  2udldl D (Rafdzearusdl

The height to which a liquid rises in a capillary tube does not depend upon
A. radius of capillary tube B. atmospheric pressure
C. acceleration due to gravity D. angle of contact
S0t wadldl Guo Y2 BUHIZ AL 2.

A. sudoildl Bssa Bl dldlared soiw
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31.

31.

32.

3.

33.

33.

34.

37.

35.

3u.

36.

3.

37.

39.

38.

3<.

39.

3.

C. g udal D.  zudsia

100 dyne/cm = N/m.

A 10° B. 107

C. 10° D) 107

100 dyne/cm = N/m.

A. 10° B. 107

C. 107 D) 10%

Reynold’s number for a liquid is 5000. Its flowiscalled .
A, turbulent B. steady and turbulent
C. steady D. none

YAlElAL 218 042 5000 €9, dell Udls Azls Bl €9,
A 2r04d2 Al B. 2ol w14 230162 uals
C. =il waug D.  asupt-lg

If fracture occurs just after elastic limit, then the body is called

A. brittle B. plastic

C. elastic D. ductile

ol ueldl [Rafdzarus e ul dd oy dZl oydl GiA, dl ddl ueld 56 69,
A dleg B.  auilzaldzalus

C. [Raldzalus DI d-

The temperature at which surface tension of a liquid becomes zero is called
A. curie temperature B.  boiling temperature
C.  melting temperature D: critical temperature
6% dAlUHLA UALSL UBALA Qe 214 €9, ded 58 €9,

A 21dl diusiA B.  Gesde dluHle

C.  odd diuMid D sild dlusid

How much is the resultant force on a sphere when it attains terminal velocity?
A. Maximum B. Minimum

C. Infinite D. Zero

AL 2[R Q2L U 52 AR oL U< wEuH ol 529 SiA €92

A HedH B.  aynu

C.  ydd DI g

Angle of contact for a liquid is more than 90°. Its meniscus will be
A. plane B. convex

C. concave D. none

215 UALEL HIZ 2u9l 510 900 2] a8z €9, ualEld Hellzsu 29,

A ¥udq B: alsaian

C. i D.  wisuya-lg

Heat transfer in solid medium takes place due to

A conduction B.  convection

C. radiation D. none

tlel UEIAM] BUHL Aol SROICRIN

Al GwaeA B.  Gwdaq

C. [als=m D. sy -lg

Sl unit of heat capacity is .

A. JK B. NK

cC. JK D. N/K

GrHIALRALAL ST 154 £,

A. JK B. NK

C. JK D. N/K

All radiations incident on a black body get

A. refracted B. reflected

C. absorbed D. none

51011 UELEL UL 2ALULA, 2dL o8l o7 [A500 AL 9.
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40.

¥O.

41.

w9.

42.

T

43.

3.

44,

6 Y.

45.

wu.

46.

v<.

47.

6.

A asleid B.  waaldq

C)  ailtda D.  supt-lg
Heat energy produced by sun reaches to earth due to

A. conduction B.  convection

C. radiation D. none

QAL Geued adl GruL yed] yHl Al 51260 Uizl 89,
A, Gl B. G4

C [l D.  alsupt-lg

A good absorber of radiation is of radiation.

A. poor emitter B. good emitter
C. good reflector D. poor reflector
[Al52014L 4121 2lus S 89,

A. [0l Geusys Bl w1kl Geusys

C.  wiRlu2dds D.  [asin u21qds
How much heat energy will be required to increase temperature of 10 g water by 1K?
A, 1cal B. 100cal

C. O0.lcal D: 10cal

10 g uLple drumid 1K a81zal Hi2 s2ell Guuiedl or32 usel?

A. 1cal B. 100cal

C. O0.lcal D: 10cal

Time period of a wave having frequency 100 Hz is

A. 0.1s B: 0.01s

C. 0.001s D. 10s

100 Hz U4l 4214l 201l 24144510, 9.

A. 0.1s B: 0.01s

C. 0.001s D. 10s

In longitudinal waves, direction of vibration of particles of medium is to the
direction of propagation of wave.

A. perpendicular B. parallel

C. both D. none

29l AZUHI sELAL SUA<dl (22 dZorel wzp] (2o Sl 89,
A do B:  uHidz

C. oid D.  asuetqlg

Volume of a Hall is 6000 m®and its reverberation time is 3s. Calculate total
absorption by all surfaces of hall.

A. 1500.W. U B. 2000. W. U.

C. 1650.W. U. D 3300.W.U.

25 UL, 52 6000 M €9 Biel dell WAl AHA 3 5 9. dl 2L ARUASHL AHIH HWZ|2A1e
5@ Ba{l 2l ol

A. 1500.W. U B. 2000. W. U.

C. 1650.W.U. D 3300.W.U.

Wavelength and frequency of a radio wave are 12 m and 25 X 10® Hz respectively.
Calculate its velocity.

A.  2.08X10°m/s B. 3X10%m/s

C. 300m/s D. 300Hz

25 2221 d2o1dl 2ol 12 m vt w19l 25 X 108 Hz 9, dl d<ll 421 2k,
A. 2.08X10%m/s B, 3X10%mi/s

C. 300m/s D. 300 Hz

Ultrasonic wave has frequency

.more than 20kHz

A. 20 Hzto 2000Hz B.

C. 20Hz to 20kHz D. lessthan 20 Hz
veztdllds dolldl 2414(q Sl 89,

A. 20 Hz 4l 2000Hz BY  20kHz s3diay
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48.

vl

49.

g,

50.

yo.

51.

uq.

52.

y=.

53.

us.

54.

uy.

55.

.

56.

Ue.

C.  20Hz 4l 20kHz D. 20 Hz 534l i
Time required to complete one oscillation is known as

A. time period B. frequency
C. wavelength D. amplitude
255U YL 5391 HIZ or3<] U A=l 2hm €9
A wpddsia B. g«
C.  audous D.  suldzdwr
Find periodic time of a wave having frequency 20 Hz.
A. 02s B. 0.5s
C. 0.02s D: 0.05s
20 Hz 2414t 42141 d221l 2UAds100 LAl
A. 02s B. 0.5s
C. 0.02s D: 0.05s
What is distance between consecutive nodes and anti-Nodes in stationary waves?
Al N4 B. 4\
C. A2 D. 2\
[Rad, dZ21HI 6L AL LS i ieZledls A2 2idR &9,
Al V4 B. 4\
C. M2 D. 2\
Sound wave does not propagate in :
A. air B. water
C. steel D: vacuum

i sale d2olid uuRe 24 .
A sl B. il
C. la D geuasia
Wave propagating in a string is wave.
A. longitudinal B.  non-mechanical
C. transverse D. none
21Zl U2 UU2AL 430l €.
A Had B. [a4-4ils
C  dod D.  wisua-lg
At constant temperature, velocity of sound in air is independent of
A.) pressure B.  temperature
C.  humidity D. none
A0 AIUHLA, AL el 4oL ol 2adat €9,
Al coupl B. AulAd
C. gl D.  asuptqlg
Velocity of sound in air with increasing temperature.
A. increases B.  decreases
C. remains constant D. none
QAL AlUHLA A2 SAHI Al 991 :
Al 98 Y B. wzg
C. »ynde D.  wisua-lg
Light waves are waves.
A. longitudinal B. transverse
C.  mechanical D. none
USL9UAL AL AZ0UL &9
A Had B: doiq
C. il D.  suet-lg
Surface area/volume ratio is for nano particles.
A. very large B. verysmall
C. zero D. none
AUZLAL A4501/52L ARUITR AUEIAHI2 Sl 89,
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57.

U9.

58.

Uc.

59.

U,

60.

<O.

61.

<.

62.

T.

63.

w
w

64.

<.

A oL 9aIR B.  voL w1

C. gy D.  supt-lg

Velocity of light in air and liquid are 3x 108 m/s and 1.75 x 108 m/s respectively.
Refractive index of the liquid will be .

A. 475 B. 058

c. 171 D. 1.00

SALHE U121 3x 108 /s 24 UALEIHE 1.75 x 108 m/s &9 dl ULl als@aqis
29,

A. 475 B. 0.58

c. 171 D. 1.00

Size of nano particle lies between nm.

A. 1to 100 B. 0.1to10

C. 10to 1000 D. 10to 100

A-dlsbld 52 nm 422 $1% 99,

AY 141100 B. 0.14l10

C. 10+l 1000 D.  10:4l100

In which of the following medium, velocity of light is maximum?

A. Water B: Vacuum

C. Glass D. Plastic

<l2Aimial 0 HieAHHE us12AL Aol Alel 4y Sl 9?

A el Bl geuasa

C. sia D. qes

The least distance of distinct vision for human eye is

Al 25m B. 25cm

C. 15m D. 15cm

HeltAell BIM HI2 Y5 £[R 2idR 2

Al 25m B. 25cm

C. 15m D. 15cm

Focal length of a convex lens is 20 cm. Calculate its power.

A. 0.05D B. 0.02D

C. 02D D. 5D

25 Aol Qedl se¢ dottd 20 cm Al d«dl uaizl auvid<l s2i.

A. 0.05D B. 0.02D

C. 02D D. 5D

A ray of light passing through of a lens does not deviate.

A. centre of curvature B. focous

C. optical centre D. none

el izl ualz 2dl ustaql saifQalad adn 4.

A asdlse B. ¢

Co usifan s D.  wisua-lg

When a ray of light passes through one medium to another medium, there is bending in

its path. This phenomenon is called of light.

A. reflection B. refraction

C. polarisation D. interference

Uslale (5200 215 HiEARHI] ol HIEAHHT A AR d dig Q00 €9, 20 szl Uslold

56 99,
A 1944 Bi  aslmaq
C.  ydlaiaq D.  edlszul

A simple microscope is made up of
A, convex lens

C. plane mirror

25 ULl YEHENS ol otddil Sl &9,

Al gleoin du

concave lens
convex mirror

O w

w

2iA0UN dH
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65.

<u.

66.

<.

67.

<9.

68.

<c.

69.

70.

90.

C.  y¥da wi[al D. qfsoin »ifz1

y particle has electric charge.

A. zero B. positive

C. negative D. none

y 58l [Asrauz 414 9.

Al 9y B. 44

C. =ua D.  alsupt-lg
Half life of a radioactive element is 50 day. Its decay constant is
A. 0.02 B. 50

C. 25 D: 0.0139

w15 2321529 ULIAAL 218 DAASIN 50 (2924 €9, dell & [Aaals
A. 0.02 B. 50

C. 25 D: 0.0139

« particle is nucleus of

A. Li B. He

C. Na D. H

a Vllesl 51 vt Al A5 89,

A. Li B: He

C. Na D. H

Number of neutron in 9,U?*® atom is :

A. 238 B. 92

C. 146 D. 330
02UZBumui «42ieA<dl v 2

A. 238 B. 92

C. 146 D. 330

Atom bomb is based on principle of .

A. nuclear fusion B: nuclear fission
C.  both nuclear fusion and fission D. none

URHLIY 616, Al [R5 uR 2L RAS.

A fsaar gloge B.  lsquz sox
C. uf5Q sloy i 2450 oied D. sS4ls
Which of the following rays has maximum ionization power?
Al arays B. pBrays

C.  Neutron D. yrays
<Al2migl s (5200l vr-dlszo alsd el 4y 92

A o (5e B. Bl

C. 2 D. y[zel

*hkkkhkkhkkkhhkkkikhkkkikk
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